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log (*) LABJNDuO standard lightnessl*

* Yoc=Yw  nc=100,

I* L aganDuo=IN(A 10+A2 )/ (A2iAon)  (X=YIYy)
I \(3,6)=146/* ,(18)=332,* ,y(90)=517

log[i* /I* ]=0, m,=0,33
* =49, I* ;=332

LABJINDuO
tristimulus value difference
YoemYw  nc=100,

I*LABINDUO=IN(A 17+ A2) /(A2 Aon) - (X=YTYy)
dY:AOn(A1n+A2nY):A0n(A1n+A2uX) XZY/Yu
Aonpss=L5, Aona=1,0, see CIE 230:2019 ’\

I*,=332 dY,=0,18 dY,/Y,=0,0101

log AY/Y) LABJINDUO
_ tristimulus value sensitivity
S=@vr) YotV nc=100

I*LABINDuO=IN(A 17+ A2) /(A2 Aon) - (X=YTYy)
AYIY=Aor(A 1+ AoV )Y=Agr (A it AgX)/Y

I* L ABINDUO=IN(A 10+A2nY)/(A2nAon)  (Ynd/100<Y<=Y,o)

log (*/I* ) LABJNDuUO relative standard lightnessl*/I* ,

I h=Yw - nc=100,
11 ABINDUO=IN(A 17 AR Y)/(A2rAon)  (Ynd/100<Y<=Y,o)

I* | ABaNDUO =IN(A 10 +A2X)/ (A2iA0n)  (X=Y1Yy)
1N (3,6)=146* ,(18)=332,* y(90)=517

L* =49, =332

I* LABINDUO=IN(A 10+ A2RY)/(A2nAon)  (Ynd/100<Y<=Yyo)

log(AY/AY,) LABJINDUO relative

tristimulus value difference
NNy Yoc=Yw - nc=100,
11 ABINDUO=IN(A 17 A2 Y)/(A2rAon)  (Ynd/100<Y<=Yoo)
11 ABINDUO=IN(A 10 +A2X)/(A2uAon)  (X=YTYL)
dY/dY =(A1+A X (A1 +AY)

1* L ABINDUO=IN(A 10+ A2RY)/(A2nAon)  (Ynd/100<Y<=Yyo)

XN=0,2 Xw=5

log [(AY/Y) 1 AYIY),] LABJINDUO relative

tistimulus value sensitivit)
SISU=EYNIAYI), yotv S Ve ge

nc

1L ABINDUO=IN(A 17 +A2RY)/(A2rAon)  (Ynd/100<Y<=Yoo)
11 ABINDUO=IN(A 10 +A2) (A2 Aon)  (X=YTYL)
(dY/YY(AYIV)=[(A 1+ A )X (A 17+AZ0)

log (L*) LABJNDuO standard lightnessL*

L* YocTl*w =

L* L ABINDU0=IN(A 15+A20Y)/(A2rAcn)  (Ynd/100<Y<=Y,0)
L* 1 ABaNDu0=IN(A 10+ A2 X) (Ao Aon) - (X=Y/Y)
L* (3,6)=146L* ,(18)=332,L* ,,(90)=517

log[L*/L* ;]=0, m,=0,33

CECO1-1A
logAY) LABJINDuUO

AY trislimulus vaILLe difference
Y=L w nc=100,
L*Laganpuo=IN(A1n+A2nY)/(A2rA0n) - (Yac/100<Y<=Y,o)
L*Laganpuo=IN(A 1t A2 X)/(A2iAon)  (X=YTYy)
dv:AOn(A1n+A2nY)=A0n(A1n+A2uX) X:YIYU
Aonpe=15, Apn 4=1,0, see CIE 230:2019
)

CECO01-3A
log (AY/Y) LABJINDUO

tristimulus value sensitivi
S=@YHY) Yo=*w - :nc=100. 4

nc’

L*Laganpuo=IN(A1n+A2nY)/(A2nA0n) - (Yac/100<Y<=Y,o)
L*Laganpuo=IN(A1nt A2 X)/(A2iAon)  (X=YTYy)
AYIY=Por(A it AgaY)Y=Ag (A it AgX)/Y

log (L*/L* ;) LABJINDuO relative standard lightnessL*/L*

LHIL* YocmL*w -~ n¢=100,
L* 1 aganDu0=IN(A1n+A2Y)(A2rAon)  (Yad 100<Y<=Y,o)

L* aaNDuo=IN(A1rtA2X)/(AoAgn)  (X=Y/Yy)
L*n(3,6)=146 L% ,(18)=332,L% /(90)=517

L* =49,L* =332

CECO1-2A
log(AY/AY,) LABJINDUO relative

tristimulus value difference
NN YomL*yy - =100,

L*LaganDuo=IN(A1n+A2 ) (A2rAon) - (Yad 100<Y<=Yyo)

L1 aganDuo=IN(A 1ntA20)/(A2iAon) - (X=YTYy)
dY/dY =(A1+A X (A1 +AY)

application
nge

=1

CECO1-4A
log [(AY/Y) | (AYIY),] LABJINDUO relative

tistimulus value sensitivity
SISU=OYNIAYIY), oo e YEHE TS

nc

L*LaganDuo=IN(A1n+A2 ) (A2rAon) - (Yad100<Y<=Yyo)
L* L aganDuo=IN(A 1ntA20X)(A2pAon) - (X=YTYy)
(dY/YY(AYIYV)=[(A 1+ A )X (A 17+A20)
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— log(dY/Y)-1,99 m=-0,T3 ~ . a plication —
log[(dY/YY(dY/Y),]=0, m=-0,13 1 o = ge log[(dY/YY(dY/Y),]=0, m=-0,13 1
: =332 dY,=0,18 dY,/¥,=0,0101, ,a;’npé'ga"m : L* =332, dY,=0,18 dY,/Y,=0,0101

Ix=1 Ix=1 =1 Ix=1

xN=0,2 Xw=5 XN=0,2 Xw=5 XN=0,2 Xw=5 XNn=0,2 Xw=5
CECO1-5A CECO1-6A
LABJINDuO log [(Y/AY) 1 (YIAY),] LABJINDUO relative log (Y/AY) LABJINDuO log [(Y/AY) I (YIAY),] LABJINDUO relative
tristimulus value contrast tistimulus value contrast C,=(YiaY) tristimulus value contrast tistimulus value contrast
=

Yn=Yw  nc=100 CHlCr=(YIAI(YIAY)u ¥ =vy, =100, YomLf - =100 ColCry=(YIAVY(YIAY)y . =i %,
1*LABINDUO=IN(A 17+ A2RY)/(A2nAon)  (Ynd/100<Y<=Yyo) 11 ABINDUO=IN(A 17 +A2RY)/(A2rAon)  (Ynd/100<Y<=Yoo) L*LaganDuo=IN(A 1+ A2nY)/(A2rA0n)  (Yac/100<Y<=Y,o)
I*LaganDuo =IN(A 10 tA2X) (A2ufon)  (X=Y1YL) I* L ABINDUO =IN(A 10+ A2/ (A2uAon) - (X=Y1Yy) L1 aBanDuo=IN(A1n+ A2 (Ao Aon) - (X=Y/YY)
YIAY=Y/[A on(A1ntAnI=X Y /[Aon(A1ntAzuX)] (YIYY(YIY) =X (At AN (A 15+A2y) YIAY=Y/[A on(A1ntAn)IEX Y/ [Aon(A1ntAzuX)]

C,=(Y/AY)

nc™

L*LaganDuo=IN(A1n+A2 ) (A2rAon) - (Yad100<Y<=Yyo)
L aganpuo=IN(A 1ntA20X) (A2uAon) - (X=YTYy)
(YRYY(YIAY)=[X/(A1n+Az ) (A 1n+A20)

apuleg-ny 13gey//:dny 1o apu
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=332, dY,=0,18 Y,/dY.~ 36~ log(Y/dY)=1,99 m=0,13 - = = ~

application r 1 application S application
1 range 1 range 1 range
=1 =1 =1

yl

—_— "
Xw=5 XN=0,2 Xw=5 Xw=5
CECO1-7A CECO1-8A
CECOL-7N

TUB-test chart CECO; LABJNDyQ* & T*, Yn L*)wrecen for Y/,
Absolute and relative lightness, sensitivity and contrast, A0O=1,00, AOD65=0,66, A1Im+#®286




